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QUESTION NO: 1

What are two ways to test the LAN connectivity on the Cisco CE520? (Choose two.)
Select exactly 2 answer(s) from the following:

A. Ping the IP address of the Cisco-Distribution VLAN from the Cisco UC520 console.

B. Ping the IP address of the Cisco-Voice VLAN from a device attached to the Cisco CE520
C. Ping default gateway from the Cisco CE520.

D. Ping the IP address of the Cisco-Data VLAN from a device attached to the Cisco CE520
E. Ping default gateway from the Cisco UC520.

F. Ping the IP address of the Cisco-Data Access VLAN from the Cisco UC520 console.

Answer: B,D

QUESTION NO: 2

Refer to the exhibit. What does "locking down" the router entail?
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A. disabling all the vulnerable services on the router.

B. Disabling HTTPS access to Cisco SDM

C. Shutting Down all the Router's interfaces.

D. Prohibiting console access to the router

E. Preventing any alteration to the router's running configuration

Answer: A
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QUESTION NO: 3
What advantage does integrated messaging have over standard voice-mail systems?

A. provides a toolbar to see the status of coworkers.

B. provides text versions of your voice-mail messages.

C. eliminates the need for a live operator to answer the phone.
D. forwards voice-mail messages to your email at .wav files.

Answer: D

QUESTION NO: 4

How are voice and data devices organized in the LAN for the Smart Business Communications
System? Select exactly 1 answer(s) from the following:

A. by LAN switchport assignment
B. by VLAN association

C. by work group affiliation

D. by WAN address

Answer: B

QUESTION NO: 5

Which Cisco support service product targets customers with up to 48 users on a network where
voice communication is mission-critical to business operation?

A. Cisco SMARTnet for SBCS

B. Cisco Technical Assistance Center
C. Cisco Smart Care Service

D. Cisco Smart Foundation Service
E. SMARTnNet Partner Service

Answer: A

QUESTION NO: 6

Basic phone support, fee-based add-on support, and VAR tech-to-tech assistance are
components of which support option?
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A. Smart Care Service

B. Cisco Smart Foundation Service

C. Cisco Small Business products support
D. Cisco SMARTnet Service

Answer: C

QUESTION NO: 7

What are three functions of the NTP protocol? (Choose three.) Select exactly 3 answer(s) from the
following:

A. to connect to a reference source on the Internet

B. to convert internal IP addresses to external IP addresses

C. to install as an Intranet-based application

D. to ensure that all network devices share a common time reference
E. to provide routing functions at an ISR

F. to aid in the collection of call detail records for billing

Answer: A,D,F

QUESTION NO: 8

Choose the two statements that apply to a typical SPA9000 Voice System setup in a SOHO or
small business. (Choose two.) Select exactly 2 answer(s) from the following:

A. Analog phones can be connected via the available analog phone ports.

B. Connection to the PSTN can be provided using the POTS gateway.

C. The base SPA9000 system allows for up to sixteen (16) IP phones to place or receive calls.
D. The expanded SPA9000 system provides support for up to twenty (20) IP phones.

E. A fax machine can be used by connecting to one of four (4) available analog phone ports.

Answer: A,D

QUESTION NO: 9

What service does the Cisco Services Accelerate Program offer to registered Cisco Channel
Partners?
Select exactly 1 answer(s) from the following:

A. additional product information storage
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